(x - 2y - 32)2& AABte] xoll hT ARe02 Helsha?

@ x? + 4y? 4+ 922 — 4xy + 12yz — 62x

@ x? —4xy +4y® — 972 + 12y7 — 62x
@x2 — (4y + 62)x + 4y? + 12yz + 97>

@ 4y* +12yz + 922 + (—4y — 6z)x + x2

® 922 +4y? + 12

(x =2y —3z2)? = x? — (4y + 62)x + 4y* + 12yz + 92°




X2 +2y%) = 2(y? - 3x?%) = 7x?

(

(

(x +y)% = x% + 3x%y + 3xy? +?
(x+y+2)2 =x2+y*>+ 22+ 2xy + 2yz7 + 2zx
(

Brl)s(x+1)=x2-x+1

© 4x-2)+(7-2x)=2x+5
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3. (a-b-c)?2E A A7

@® a? + b? + % + 2ab + 2bc + 2ca
@ a?® + b? + % — 2ab — 2bc — 2ca
® a? - b* - c? - 2ab - 2bc - 2ca

@a2+b2+02—2ab+2bc—2ca

® a? - b? -2 + 2ab — 2bc — 2ca

(a=b-c)?
= a® + (=b)? + (=¢)? + 2a(=b) + 2(=b)(~c) + 2(-c)a
= a® + b? + ¢ — 2ab + 2bc — 2ca
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@) (a+b)2(a-b)> = a* - 22 + b*
B (—x+3)% = x3 - 9x2 4 27x — 27
@
®

(
(a-b)(a®+ab-b?) =a*-b*
(

p=D(P*+ (P +1)=p* -1

B

(x—y-1)2=x>+y>+1-2xy—2x+2y
(=x+3)3 = —x + 9x% — 27x + 27
(a—b)(a® +ab+b*) =a*-b?
(P=Dp+ 1>+ 1(p* +1) =p* -1




(x+1)(FP-x+1)=x>+1

a+2b-3c)® = a®+4b2 + 9¢2 + 4ab — 12bc — 6ac

—_—~ o~

©)
@
@ (x+2)(x*-2x+4)=x3+38

@(xz—xy+y2) (2 +xy+y?) = x* —xB? +*

® (x-1)°(x+1)2=x'-222+1

@ (x* - xy+y?) (X2 + xy +5?)
= (& +5%)* - ()
= xd b x2y? 4y
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@ x=y @a b

(a® 4+ b?)(x* +y?) — (ax + by)? = 0=

25| st

a®y? + b?x® — 2abxy = 0
=, (ay—bx)2 =0
“ay—bx=0(. a, x, b,

y
wEbA, gy = bx oAl 2 = %




7. x+y+z=1 xy+yz+zx=2, xyz=3 LW, (x+y)y+2)(z+x)
o] #t= oY

@ -2 @—1 ® 0 @ 1 ® 2

B ~

X+y+z=1°A

x+y=1-z
y+z=1-x
z+x=1-y

(x+»)0+2)(z+x) =(1-2)(1-x)(1-y)
=1-(x+y+2)+ (xy+yz+2zx)—xy2
=1-1+2-3=-1




8. x+ytz=lwyt+yztzx=2xz=3¢ ™, (x+ 1)y +1)(z+1)
o] = kit

> E:

> ™eh: 7

(r+ 1D +1)(+1)
=xyztxy+yzt+ax+x+y+z+1
=7
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1=m?

rlo

(a+b+c)?=a®+b>+c? + 2ab + 2bc + 2ca

(a+b+c)(a®+b*+c?—ab—bc—ca) = a® + b3 + ¢® — 3abc
(a+b)? = a3+ 3ab + 3ab* + b3
(

a-b)?=a®-3a?b + 3ab® - b*

@ e e e e

(@*+a+1)a®>-a+1)=a*-a®>+1

@ @+a+)(a®*-a+1)=(a®>+1)?-d?
=a*+a’>+1
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@ x_y_z)2:x2_y2_z2_2xy+2yz_2zx
@ (3x - 2y)? = 27x% — 54x2y + 18xy? — 8y°

®

x2 = 2xy + 2y?) (% + 2xy + 2y%) = x* + 4*

° ®

(
(
(x+ ) (x=9) (¥ +xy = y*) (8 = xy +y?) = 1 = y”
(
(

x+y-1)(2+y?—xy+2x+2y+1) =x3+y3 - 3xy -1

B

@ (x—y-2)2=x2+y2+22 - 2xy+ 297 — 2zx
@ (3x —2y)3 = 27x% — 54x?y + 36xy% — 83
@ (x+y)(x=y)(F + xy +¥*)(¥* = xy +°)

— X6 _yb
O x+y-1)*P+y*-xy+x+y+1)
33 3




